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−3 ≤ 𝑥 < 5

y x 

𝑔 𝑚 = 3 + 𝑚2 − 4𝑔(3𝑚)
𝑓 𝑥 =

𝑥+1

𝑥2−3𝑥−40

𝑓 𝑥 =
𝑥−3

2𝑥−5

𝐴) 𝑅 𝐵) 𝑅 − 2

𝐶) 𝑅 −
5

2
𝐷) 𝑅 − {5}
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𝑓 𝑥 = 𝑥2 + 6𝑥 + 10

............................................................
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𝑓 𝑥 = 2𝑥2 − 5𝑥 + 3𝑦

𝐴) (0 , 10) 𝐵)(0 , 5)

𝐶) 0 ,3 𝐷) (0 ,2)
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ℎ 𝑥 =
𝑥−4

𝑥2−5𝑥+4
.  𝑥 = 4

(D) (C) (B) (A)
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𝑓 𝑥 = 𝑥2 − 3𝑥 − 43 ,5

𝐴) 3 𝐵)4

𝐶)5 𝐷) 6

𝑑 𝑡 = 16𝑡2

𝑡𝑑 𝑡
[0 ,3 ]
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𝑔 𝑥𝑓 𝑥 = 𝑥

𝑥

𝑔 𝑥

𝐴)𝑔 𝑥 = −𝑥 + 2 − 3 𝐵)𝑔 𝑥 = − 𝑥 + 2 − 3

𝐶)𝑔 𝑥 = − 𝑥 − 2 + 3 𝐷)𝑔 𝑥 = 𝑥 + 2 − 3

𝑓 𝑥g 𝑥

المجال

المدى

xالمقطع 

yالمقطع 

التماثل 

الاتصال 

سلوك طرفي الدالة 

التزايد و التناقص 
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𝑓 + 𝑔 𝑥 , 𝑓 − 𝑔 𝑥 , 𝑓 ∙ 𝑔 𝑥 ,
𝑓

𝑔
(𝑥)𝑔 𝑥 , 𝑓 𝑥

𝑓 , 𝑔
𝐼 𝑥 = 𝑥

𝑓 2 = 3 ,𝑔 3 = 2 ,𝑓 3 = 4 ,𝑔 2 = 5

𝑓𝑜𝑔 3

𝐴) 2 𝐵) 3

𝐶) 4 𝐷) 5
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𝑦 = 𝑥2 + 6𝑥 + 9𝑦 = 4

𝑓−1

𝑓 𝑥 =
𝑥 − 6

𝑥

𝑓 𝑥 = 4𝑥5 − 8𝑥4

𝑓 ,𝑔

𝑓 𝑥 = 4𝑥 + 9 , 𝑔 𝑥 =
𝑥 − 9

4

𝑓 𝑥 = 3𝑥 − 1

𝐴)𝑓−1 𝑥 = 3𝑥 + 1 𝐵)𝑓−1 𝑥 = −3𝑥 + 1

𝐶)𝑓−1 𝑥 = 𝑥+1
3

𝐷)𝑓−1 𝑥 = 𝑥 + 1
3
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𝑓 𝑥 = 4 − 2𝑥

𝐴) 3 𝐵) 2

𝐶) 1 𝐷) 0
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y

5%
𝑦(𝑡)

2350015 
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1000001430

169588 1442 

a𝑦 = 𝑎𝑏𝑥y x 

1430

(b1450

𝑥7𝑥−1 + 7 = 8

𝐴) − 1 𝐵) 0

𝐶) 1 𝐷) 2
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𝑥log8 16 = 𝑥

𝐴)
1

2
𝐵)

3

4

𝐶)
4

3
𝐷)2

1

54 = 625

𝑙𝑜𝑔4 625 = 5 (a𝑙𝑜𝑔5 625 = 4 (bc𝑙𝑜𝑔625 4 = 5𝑙𝑜𝑔625 5 = 4 (d

2
𝑙𝑜𝑔7 343 = 3

(a37 = 343b73 = 343c3437 = 3d3433 = 7

3

𝑙𝑜𝑔6 1

a10 (b6 (c(d2

4
𝑙𝑜𝑔10 10

a210 (b1 (c(d0

5
𝑓 𝑥 = 𝑙𝑜𝑔5 𝑥

a𝑅(b𝑅+(c𝑅−(d𝑅 − { 5 }

𝑓 𝑥 = 4 𝑙𝑜𝑔4( 𝑥 − 6)
𝑓 𝑥 = 𝑙𝑜𝑔1

6
𝑥
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2log5 12 − log5 8 − 2 log5 3

𝐴) log5 2 𝐵) log5 3

𝐶) log5 0.5 𝐷)1

1-log4 3 ≈ 0.7925log4 5 ≈ 1.1610

log4 15
log4

5

3

log5 7 ≈ 1.2091log7 9 ≈ 1.1292

log5 49log7 81

50 log5 125

log9 6𝑥
3𝑦5𝑧

3 log5 𝑥 −
1

2
log5(6 − 𝑥)
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log4 𝑥 − log4 𝑥 − 1 =
1

2

𝐴) −
1

2
𝐵)

1

2

𝐶) − 2 𝐷)2
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27
3

5

𝑥+1
= 125

𝐴) − 4 𝐵) − 2

𝐶) 2 𝐷)4
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cos𝜃sin 𝜃 =
4

5

90 < 𝜃 < 180

csc 𝜃cot 𝜃 =
1

4

180 < 𝜃 < 270

tan 𝜃se𝑐 𝜃 = −3

180 < 𝜃 < 270

tan 𝜃 cos2 𝜃𝑐𝑠𝑐𝜃 − 𝑐𝑜𝑠𝜃𝑐𝑜𝑡𝜃2 − 2𝑠𝑖𝑛2𝜃

𝐴)
1

𝑚2
𝐵)

𝑚 1 −𝑚2

1 − 𝑚2

𝐶)
1 − 𝑚2

𝑚
𝐷)

𝑚

1 −𝑚2
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1-1

𝑐𝑜𝑠𝜃0 < 𝑥 <
𝜋

2
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𝑠𝑖𝑛2𝜃 ,𝑐𝑜𝑠2𝜃 ,𝑠𝑖𝑛
𝜃

2
,𝑐𝑜𝑠

𝜃

2

𝑐𝑜𝑠15°
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𝜃

𝜃𝜃
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𝑥2 = 8 𝑦 − 2
𝑥,𝑦
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(-9 , -7)(-9 ,-4) 

y = 4 c = -2

F
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(4 ,-9)(4 , 3)8 
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(-4 , -3) 12

(2 ,1)   , (2 , -4)  
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(7 , 5) , (-5 , 5) (11 ,5) ,(-9 , 5 )
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